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INSTRUCTIONS AND INFORMATION

. Do not open the booklet until told to do so by your teacher.
RIRWEE Z IV A 2 8l AT @ TT b L TR B

. This question paper consists of 30 questions.
RABHE 0 &,

. Diagrams are NOT drawn to scale. They are intended only as aids.
BEAEHRCBERARTER , T—ER .

. Neither mathematical tables nor calculators may be used.
TEERBFERBITERR.

. Write your answers in the answer boxes on the separate answer sheet provided.
ERFHEBHEAMEHRNEEENEENME L,

. Working may be shown in the space below each question.

EXTERRENEMAZERE,

. Marks are awarded for correct answers only.

REEBENERSIESD

. The MiMAS reserves the right to re-examine students before deciding whether to grant
official status to their score.
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1 = 10 a, '&a 3 57\0
Question 1-10, 3 marks each.
1. 894 |582<8945439, [ |P o9 T a2 % 2
894[ 1582 < 8945439, which of the following number can fill in [ ]?

(A) 8 (B) 3 © 5 (D) 6

2. (21436+3)x15=79

(A) 225 (B) 495 (C) 545 (D) 625

3. TR —A - H R K?
Which of the following are the largest fraction number?

s ® © = &
17 13

A P
® 9 11

4. =g, Midet s EARETF 6, THifed o4z EARR 1, XA EAE?

A number, the ones digit and tenths digits are 6, the tens digit and hundredths digit are 1.
What is this number?

(A) 6161 (B) 6116 (© 1661 (D) 60.01
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5. 8465 sV BMA F U, A ReAL 225 EIR7

What is the smallest number which 8465 has to subtract makes it divided by 225 without

remainder?

(A) 140 (B) 124 (© 90

6 “”62—3£+D—9£ W[ ]=7
AR T 77 |

If62 34 +[] 94 then []=7?
_—— _— = —' en :-
7 7 7

7. 85674079 ¥, EAW T el 6y 7 TR AN EAE % )7

(D) 85

(D) 6=

In number 85674079, what is the difference between the number 7 on the left and the

number 7 on the right?

(A) 0 (B) 6930 (©) 69930

8. WA Z A& 27 &, 58 &, 95 KM= AT ANAr =AM
Which type of triangle has angles with 27, 58 and 95 degree?
A HA=AW B) E=AHK (O HA=AT

Right Regular Obtuse
triangle triangle triangle

STD 4

(D) 699930

(D) HBA=AF
Acute
triangle
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9. 6055 AR +4 N2 85 R =( )ANE( ) AR
6055 m+4 km 85 m=( ) km ( )m

(A) 6, 540 (B) 7, 240 (C) 8, 340 (D) 10, 140

10. 244 T 30 %, EReH T IILA?
How many degree does the minute hand move after 30 minutes?

A 30 B (B) 60 & © 90 & (D) 180 &
degree degree degree degree

11-208 , 88 4 9

Question 11-20, 4 marks each.

11 —AFR=AM6IRIEGI 5 5, KM 10 Ay, 2 TR—NEZAT, W FR=FA
89 B KA B = 7 6 B KA — AP A K9

When the side of an isosceles triangle increases 5 cm and the base decrease 10 cm, it will

become a regular triangle. Compare the perimeter of the isosceles triangle and the
regular triangle, which is longer?

A Fr=m%m B E=ZAK (C) —H#k (D)  REHHF
Isosceles Regular Same Can not be
triangle triangle judged

12. B5r L e384t A3 F 11 A4 7 R 25 F 4, =% T JLE?

How many degree does the hands on the clock move from number 11 to number 4 going
clockwise?

(A) 90 (B) 120 (C©) 150 (D) 180
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13.

14.

15.

16.

FHEEREATIANZTS0NAR, 1 ZHXATILAZILARY

Grandfather walks 1 km 750 m every day. How long does he walk in a week? (in unit
km and m)

(A) 1122750 AR (B) 12 % 250 R

11 km 750 m 12 km 250 m
(C) 12 Z 750 AR (D) 13 A% 250 AR

12 km 750 m 13 km 250 m
HBRMHRA KA Sy ng? (41 cm) 4
What is the perimeter of the figure on the right? (in unit cm) 12

| 2

A) 60 (B) 64
(C) 68 (D) 72 20

A A 0. 5 ERuFFHERE R SRR S (BTN 0)

What is the largest two decimal places number that can be formed by 3 number cards, ,
@, ? (The hundredths digit cannot be 0)

(A) 504 (B) 405 (C) 405 (D) 5.04

2= =] (=] 2] [x] [~] [

1z ] ] 5] [+]

BUHR AT T SR § RR BT 0% ik (B R AT R A —R), &K 9HF T
1tk

‘Ten thousand‘ ‘Thousand‘ ‘Hundred\ ‘Ten‘ \Zero\ ‘One‘ \Three‘ ‘Four‘ \Five\ \Seven\ \Eighﬂ \Nine\

These number cards on above can make many different numbers pronunciation (Each
number card only be used once). The largest number is:

(A) 98750004 (B) 98750043 (C) 98750431 (D) 98754310
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17. 482Xx357X663 Fi A RMAMLHF A % 7
What is the ones-digit of the product of 482x357x663?

A) 2 (B) 3 © 7 (D) 1

18. —A%umd? 5, RWAS5, mES5, ARWUS, &RF5, IMHRZ DY

A number minus 5, multiples it by 5, adds 5, then divided by 5, the answer becomes 5.
What is the original number?

(A) 0 (B) 5 © 9 (D) 15

19. ¥ KR FHBTESEE 10 NTATR 22 R2L, 4T WG HEM2ALA, &5
JLEXF 8217

School needs refurbish grass, hire 10 workers complete work on 22 days. How many
days it need to complete, if increase 2 workers after 4 days the refurbish start?

(A) 8 (B) 10 © 12 (D) 15

20 M E T HERS, AFcomik 12§ AR, BEBmEE 52 NR, 4GB

eRFRE S AR

alun

Sister buy 2 ribbons, red ribbon longs 12 % m, green ribbon longs 52 m. How many m
the red ribbon longer than the green ribbon?

1

A) 5< (B) 6= © 62 (D) 7=
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21-30% , 885 %,
Question 21-30, 5 marks each.

21. =BG B2CE—AL, ek BRTT, P4l R HRT

Three square overlap as the figure. What is the degree of £1? |

45N S 39-

22. —RKFM KA KZ 96 25, B 6 FK—H X6 KF5 R 444k
R—AKKGTH G B, A RKKFH O RRES JFF 207

The perimeter of a rectangle paper is 96 cm, use 6 pieces same
rectangle to build a large rectangle as in right figure. What is the

area of the large rectangle in unit cm??

23. FRAHFASESE], AR LB B 4A, WA 22 XA B 5E, 248 56
2B 6 A, MR 3 ERXAAME, FEHELR S IA?

The school allocates rooms for new students, if every 4 persons a room, there are 22
persons have no room. If every 6 persons a room, then 3 rooms are empty. How many new

students are there?
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24.17 A B et BHEF], — R FHAMF RE R K, HAR
AEBREN ARARGY A L, ARG BhE 2] F 6 R &9 LA L
A7

17 circles arrange as on the right figure. A frog starts from
the center, it can only jumps to the adjacent circle, it jumps
back to the center after 5 times of jump. How many
different method are there?

25. 4B, AAEANDEFHFe—ANKIEFH, KEFHGI KR IE
FHA K24, REFH) =AM ERA 240 -FFH N5, LK 1 T

ENEFHEBRFeR S ST F T \

In right figure, it has two small squares and one large square, the d
side of large square is 2 times of the small square’s side. The area 4
of the shaded area is 240 cm?2. What is the sum of the area of these

three squares?

26 H— R S4akk, MEBF 3BT, AL LABRFTHLLLR 2 MuBE R £
#F LA E, dw 74312, 6514, AMAX X TR RKNAS J?

There is a type of multiple-digits number, starting with the third digit of the left, each
digit is equal to the second digit on the left minus the first digit on the left. i.e. 74312 and
6514. What is the maximum number of these type of number?
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27. £, KBREA, BABANILT, 4 ASFHHRIRELMES 1%, XH 9 ¥, L5574
Wl R, g R D, FIRTIIRE, R ERDILT TSRS,

: DR K

b E SN 3 Y,

DR EREY AT Y e —F,

s DA EDILTF RS ¥,

AREAH—ANILTAE S ¥,

mo 0w

Two Family, Ong and Lim, each family has 2 sons, 4 persons has difference age and at
least 1 years old and no more than 9 years old, they are Fong, Nuo, Yang and Zhe. Use the
following description, Find out the age and name of the younger son of Ong Family.

A: Fong is Eldest.

B: Nuo is 3 years younger than his brother.

C: Yang is half of age of one of the sons from Ong Family.
D: Zhe is 5 years older than the younger son of Lim Family.
E: Both family only has one son no more than 5 years old.

28. 4z . BEAMEHESA 11, 12, 17 A, FABRAETH 2 ANRF A & 6584 %
2AFEEMMEME (Jo: 4o, K ERE 1 W2 WE LR, WAEARAFIALY, e
HR B A 5 VB0

Red, yellow and blue three colors of the balls have 11, 12 and 17 respectively. Each
operation can change 2 different colors balls into two balls on the third colors (i.e. 1 red
ball and 1 yellow ball = 2 blue ball). During the operation, how many red balls are there
when it is at most?
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29. BHF 1~6 MANZTGHFHKF, ERE—F, N F 1~6 AT EIA—K, F
HFILAA R BRI 2R T 6 XK, HANAEIRF T 1~6 53FA R b —k, A4
T &®—F 098] 4 MNEF R 09 W@ {2 $ABCD & ?

Fill in the grid below by using number 1~6, makes number 1~6 appears once on each
column and each row. The grid table below is divided into 6 areas by the thick line,
number 1~6 also appears once on each area. Whatis ABCD which is the first 4 numbers
on the last row?

Page | 9 STD 4



30. wBHF 1, 2, 3, 445 SAMABFHETA, FLALERERTANRFRILEF
REAABARK, WA $ JAFRIEL?

How many methods are there to fill in the grid below by using number 1, 2, 3, 4 and 5,
makes the number on the grey grid is larger than the two numbers next to it (on the
white grid)?
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